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ONSIHEIAZEI BEZAM =2 720
OZE0A IHHA=EHDI 250,000& = 1CH 250
OC0/HC && DI 200,000& =« 1CH 200
OME=&E= HICILotH2t 120,000& » 1CH 120
Ol E=2H 28 ¢ w3E
50,000& = 3H 150
OUIIREEE A2 UHH U=
1,237,500 * 80 A 9,900
02 =24l 2,877 6,877 A4,000
O A& EHI X 1,377
OXtS X &It A CO/HCE & DI
566,000& = 1CH 566
ONSXHEIA HHAEEFH DI
811,000& « 1CH 811
OXIINSA XMEHH (=HHl, RFU S)
1,500,000& * 1CH 1,500
206 M= Hl 2,000 3,500 A 1,500
01 M= 4l 2,000 3,500 A 1,500
OSZSFEHl IR 2 2,000
Ot X8 HOIZ(ESE)
50,000& = 304 1,500
OM=g 2,500& = 2004 500
405 XHobF S HI 1,815 1,150 665
01 HatH ESFH S 1,815 1,150 665
ot==3Il 7¢ 363,000& = 5CH 1,815
A5 - s 22 1,032 10,532 A 9,500
201 L4l 1,032 1,032 0
01 At 22l 132 132 0
OASNSSHI| AN 242
44,0003 = 304 132
02 =224l 900 900 0
OAsSUSEEI KX 2a2ldl 300,000& * 304 900
H=AHU ESAtY 70,336 172,124 A 101,788
= 50,240
< 10,048
Al 10,048
402 RIZ2HXt20l ™ 70,336 172,124 A 101,788
= 50,240
< 10,048
Al 10,048




AN 32222 JI=FUIIH
M 9 JiRE tolEd =4
SHelr BEE CHOIBY OlE £ EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 70,336 172,124 A 101,788
OM=AHU XA 70,336,000& 70,336
= 50,240
< 10,048
Al 10,048
A DEE ReUAFHZEFI| 2te| 28,000 58,640 A 30,640
201 Let2d] 28,000 28,640 A 640
02 2324l 28,000 28,640 A 640
ORAUAAFH=HI| HI|,SUR3 6,000
oLy 23 110,000& * 128 1,320
Os43(loT 22X 100)
20,000& = 11CH = 128 2,640
OSMSE X+ S 4123 (TMS 100)
60,000& = 12& 720
o&IJIe3 10,000& = 1104 » 123 1,320
ORUAFHZFHI ALEHH KX HI
2,000,000& = 11CH 22,000
OIMHXNZRH MG &3 T4 8,552,394 6,943,344 1,609,050
= 4,282,008
< 1,674,754
Al 2,595,632
OIHIHXICHE =& 100,000 0 100,000
207 RO 100,000 0 100,000
01 289 100,000 0 100,000
OF=Al DIMEI 24 & 22/t AFESH
100,000,000& * 12 100,000
s#ZTegass 29 246,338 168,832 77,506
201 LBt 140,338 73,832 66,506
01 At 22l 4,420 2,780 1,640
OOIMYX & QQEAEH 28 222 NHE
1,000& * 1,5000H 1,500
OBITHABA 22X S|
8,000& * 198 « 365¢ 2,920
02 2324l 135,918 71,052 64,866
Ol HZE HIIANER
400,000& = 208 » 12& 9,600
ollILadae Sl
130,000& = 204 = 12& 3,120
omJllegdzam X2l (2HA) 26,514
OMEUZ(LH) 18,000,000& * 1JH 2 18,000
OEUEI(SHH)  8,514,0008 * 1IHA 8,514
OUIIQEZEAIAEY SAHI(Z 7H)
120,000& * 4CH » 128 5,760
OO0IMZXX &elil dss KX 22l 9,324




AN 32222 JI=FUIIH
90 HRE toIEd x4
&2 DINEXNZRE s &3 =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
odIIe2 11,0003 = 704 + 128 924
Ostles 100,000& » 704 « 123 8,400
omlIyE =32 29| 81,600
O&IIe3 300,000& = 2JH 4 * 12& 7,200
Osde3za 100,000& » 204 « 12& 2,400
O= X 2eldl 25,000,000& * 20 4 50,000
Ox2EH| 11,000,000& = 200 & 22,000
401 A& HIZ 201 Y] 55,000 45,000 10,000
01 A& HI 55,000 45,000 10,000
OUINEX 2200 4ES &3
11,000,000 * 50 £ 55,000
405 XHoHF S HI 51,000 50,000 1,000
01 et ESFH S 51,000 50,000 1,000
ouleg s FEAMAH 2=
51,000,000& =« 1CH 51,000
CHoled2el 496,840 562,752 A65,912
= 97,500
< 48,750
Al 350,590
201 £B-2dH| 301,840 82,752 219,088
01 At 22/l 220,000 9,000 211,000
OUIIEZML a==Xt &It 220,000, 000& 220,000
02 2324l 81,840 73,752 8,088
OloT OIMEHXI 22 &2 & MHIAHI
159,500 * 4004 123 76,560
OloT DM X2 &34 SA&lH
11,0003 » 40004 « 12& 5,280
401 Al HIZ 201 8] 195,000 0 195,000
= 97,500
< 48,750
Al 48,750
01 A& HI 195,000 0 195,000
omlIE=dL &X 195,000,000& * 1JH A 195,000
= 97,500
< 48,750
Al 48,750
SIS X <200 X& 5,252,000 4,814,000 438,000
= 2,772,000
< 1,240,000
Al 1,240,000
402 RI2HX20| ™ 5,252,000 4,334,000 918,000
= 2,772,000
< 1,240,000
Al 1,240,000
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02 QA2 AMAEE(0IATHE)

OotEZE MIIXSA FLH XA (58)

17,000,000& = 300CH

OUAB2E FIINSH PUH N (ELE)
9,500,0008 * 16CH

= M W

= Hn

5,252,000

5,100,000
2,700,000
1,200,000
1,200,000

152,000
72,000
40,000
40,000

4,334,000

918,000

IO EXE S ALY

H

Al

75,000

37,500
37,500

50,000

25,000

402 2I2tXt=01&

75,000

37,500
37,500

50,000

25,000

SX(0I&THE)

(]
=
0228 MII0IEX FL€H X

2,500,000& * 30CH

= N

75,000

75,000

37,500
37,500

50,000

25,000

= W

240,000
120,000
36,000
84,000

864,000

A 624,000

402 RI2HX=01 M

= N H

240,000

120,000
36,000
84,000

864,000

A 624,000
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= M W

240,000

240,000
120,000
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84,000

864,000

A 624,000

LPGOtA XIS FUHl 22X

= M W

100,000
50,000
25,000
25,000

100,000

402 RI2FX=01 M

= W

100,000
50,000
25,000
25,000

100,000
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AN 32222 JI=FUIIH
90 HRE toIEd x4
Chel: DM X 2R otds 83 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 25,000
Al 25,000
2HLFIA WEIL H2ZAL (ZINH XX ) 1,067,216 483,760 583,456
= 530,008
< 265,004
Al 272,204
201 £B-2dH| 7,200 0 7,200
01 At 22l 7,200 0 7,200
OLZBARK TN 4F J2UBL4E
12,000& * 6 7,200
402 QI2H X201 M 1,060,016 483,760 576,256
= 530,008
< 265,004
Al 265,004
02 QI EASEZ (01X TS ) 1,060,016 483,760 576,256
O3S ZJIHX XNF  1,045,200,000& 1,045,200
= 522,600
< 261,300
Al 261,300
O2& Xt OHH M2 & X (DPF) 2=
14,816,000& 14,816
= 7,408
< 3,704
Al 3,704
=228 st E2 975,000 0 975,000
= 675,000
< 60,000
Al 240,000
402 RI2EXt20l ™ 975,000 0 975,000
= 675,000
< 60,000
Al 240,000
02 RIZEXt 2 AL EZ (01X TS ) 975,000 0 975,000
ORlIZtEZ =A% FHl K&
32,500,000 * 30CH 975,000
= 675,000
< 60,000
Al 240,000
HY2IZ Y (sHF 228 JIEUIID) 59,056 0 59,056
Jl23l 59,056 0 59,056
JlE&l 59,056 0 59,056
201 LB-2dH| 15,216 0 15,216
01 At 2t 2l 15,216 0 15,216
OJl=gR=8dHl (JI&dHl)
500,000& =« 129H 6,000




AN ISR JEUHIID
HedZH (s 2elee =)
2

X EH BH
L= B o
gelr Jl=

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oZ2Hl(JI=&Hl)
8,000 * 12 x 82 * 12& 9,216
202 (4] 23,040 0 23,040
01 2L Y] 23,040 0 23,040
O=2Wobl(21=F8l)
20,000& = 124 » 8 * 12& 23,040
203 &R =&H| 3,000 0 3,000
04 2SI L RF=AH| 3,000 0 3,000
©J|=H (152! 0lat) 250,000&  12& 3,000
405 XHo&HF S HI 17,800 0 17,800
01 AL =S EF SHI 17,800 0 17,800
OHLtE D] 3,000,000& * 2CH 6,000
O &K= A 5,500,000& * 1CH 5,500
OZglH (A3ZE Zet) 3,500,000& * 1CH 3,500
Od&E 1,000,000& = 1CH 1,000
O MIEt D] 1,000,000& = 1CH 1,000
OMZ2I 500,000& * 1CH 500

OFSE=F<Enp)| 300,000& * 1CH 300




—— A
N = 0 & AF S 99 N A
20008 &= 20l A dBHG Y StH2AL 2R SEEMY ~ A 2L ot~ 2l vt
SN BFBARE VAEHDY
N D WRE BEEZA HEF= X4
&l 365 MRE F= (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
g#ZoEs HEIHD 31,043,853 23,314,001 7,729,852
= 902,000
< 285,283
Al 29,856,570
ot HRE HEAZA HF XM 30,968,411 23,249,059 7,719,352
= 902,000
< 285,283
Al 29,781,128
365 MRse HE 13,831,684 11,699,567 2,132,117
= 40,500
= 12,150
Al 13,779,034
stz 2el 192,667 156,891 35,776
201 et 9| 31,587 23,011 8,576
01 AP 2t 2] d| 12,760 5,710 7,050
O H2IIAANRA JI=2gR Bl
250,000 = 12& 3,000
OBBRRINME YALS U Ha
350,000 = 53| 1,750
O&XZLD| AdX= 40,0008 = 204 ~ 12& 960
OB SHE A & &) Ea
7,050,000& = 13 7,050
02 2224 H| 8,507 8,431 76
OXH X RFH 1,350 = 11,2002 & 1,620
O XA X & XH| 2,000,000& 2,000
OXAHX 282 150,000& = 1CH 150
OXAHX BA=xx=E 50,000& = 1CH 50
OFULVME +H2
2,349& * 1,995 4,687
03 A2 E H| 10,320 8,870 1,450
Ot &2 El YAl AL 10,320
Osl=9 70,000& = 1J4 70
O ALE 3t&t 100,000& = 1JH 100
OZ20rg 7¢ 100,000 = 7JH 700
OZAFTH (CH) 150,000 = 74 1,050
OEIZIN A2 AINE 1,200,000 = 74 8,400
203 €2 F=&d| 4,000 4,000 0
03 Al =X =T 4,000 4,000 0
ONIM o #HR2IY AR =7
4,000,000& 4,000
301 YA 134,880 129,880 5,000
06 212t01=2| (4 HI 90,000 0 90,000
oOtF &l A& HAAS (HH|
2,200,000 = 25%H 55,000




SN BFBARE VAEHDY
HE: oD RS BECA BFE X4
chel: 365 MRS HF (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
FEEEEEEEEEEFRELECERED
2,500,000&  149H 35,000
09 HALAHIEA S 44,880 129,880 A 85,000
ogZzcld s MU
70,000& » 2649H 18,480
osTRY HFXAS YIS
100,000& * 264%H 26,400
303 Z& 3 800 0 800
01 Z4& 3 800 0 800
ozgsz&el¥ HF
100,000& = 2% 40 73 800
401 Al Bl 28I 20,000 0 20,000
01 A& HI 20,000 0 20,000
OBAVRAAME HFA U =Y FLTDA
20,000,000& = 13l 20,000
405 THebH S| 1,400 0 1,400
01 AL =2 S FH S| 1,400 0 1,400
Otz 2elddEH MEDII 700,000& =« 2CH 1,400
MM Il el 11,571,301 8,813,116 2,758,185
201 LBt2d| 1,183,884 107,316 1,076,568
01 At 22l 68,500 88,500 220,000
OZHE XDl BHE 22 M
5,000& * 8,000% 40,000
OXYL EIAIZ SEMSE RHAEAH MAH
503 = 5,000AICH = 10& 2,500
OBLARIA HEI M (D)
100,000& » 20 2,000
OAIQ SFZ2A =2 30,0003 » 2008 * 4H 24,000
02 =224l 1,115,384 18,816 1,096,568
O&HEAX S22 AIAE FXE |
250,000 * 123 3,000
OHAXS2CIAIAE GPSHITI| AIS =
10,000 = 68CH = 12& 8,160
OMEEF=NELEXNET: HIIR=S
7,000& = 1004 » 12& 84
OMEUIIZSEEFIl 2Al CCTV SEAIAE S4R
=) 300,000& = 12& 3,600
OUEHIIE 28 FX 24|
60,000& * 9& 540
OQHIIZEMERES 1,100,000
Oaxz 10,000& = 130,000&€ * 50% 650,000
Ol 15,000& = 30,000 450,000
301 L2 Az 100,600 96,500 4,100
09 BAEHIE &S 15,600 15,600 0




SN BAVARE G
Hal: o] WRe HEECA HF X4
5 MRS = CERED

CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
O2elotRA 22l &0 29
20,000& = 13IHA = 5 x 128 15,600
12 JIEtE2 &2 85,000 80,900 4,100
O2EZ SSAH HelBa42 85,000
OsX< 15,000& * 1,500 22,500
Os94 X 25,000& * 2,500 62,500
307 212t0| & ,286,817 8,566,800 1,720,017
05 A2t E = ,286,817 8,566,800 1,720,017
OHASI =L Q=5
110,000& = 12& 1,320
OMEMHIIE =2 = ,285,497
OssT It d
1,162& = 161,000MICH = 12& ,244,984
OH=xed It M
2,056& * 76,100MICH = 12& 877,540
OH==e 2
2,936& * 75,900MICH = 12& ,674,109
Os89XY JtHd
4,189& * 35,500MICH = 12& , 784,514
OAEH Ot A
2,077& * 29,500MICH = 12& 735,258
OAMEEH M2
2,926& * 27,600MICH = 12& 969,092
MOl ZZYH 2E NE L 23 986,716 1,901,560 85, 156
206 M = Hl 1,985,716 1,900,560 85, 156
01 X2 Hl 1,985,716 1,900,560 85, 156
OMHIIBSEM #ESE M 1,848,916
o= 1,688,395
-22| & 233 = 400, 00004 9,200
-52l & 31& = 1,000,0000H4 31,000
-102l 38& x 3,200,0000H4 121,600
-202I H 57& % 3,150, 00004 179,550
=502l & 1243 = 2,400, 0000H 297,600
-1002! &4 219& * 1,550,0000H 339,450
-0HCH (2021 &) 330& = 24,5000H 8,085
-0FCH (4021 &) 400& * 400,0000H 160,000
-0FCH (10021 &) 603& = 120,0000H 72,360
- AFZ (1021 &) 413 * 1,550, 00004 63,550
-THAbE (2021 E) 58 % 7,000, 0000H 406,000
(OF=F=r= 160,521
-502I &H 1242 * 800,0000H 99,200
-0FCH (4021 &) 400& = 18,0000H 7,200
—-0HCH (10021 &) 603& * 57,0000H 34,371




SN BFRRS HEIHY
HE: oD RS BECA BFE X4
&l 365 MRE F= (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
“HEH NS0 (15021 )
790& = 25,0000H 19,750
oRsX=&(202/H) 57@& * 2,200,0000H 125,400
O PEXZE(202H)
57@ = 200,0000H 11,400
301 et a s 1,000 1,000 0
12JIEBE43 1,000 1,000 0
O=E8A3SF 7S &1 E4=
500,000& * 23 1,000
HOHILAXE PYH EX 81,000 108,000 A 27,000
= 40,500
< 12,150
Al 28,350
405 RHoHE S HI 81,000 108,000 A 27,000
= 40,500
< 12,150
Al 28,350
01 et EZFH S 81,000 108,000 A 27,000
O&HHIIA HAX ESAEY 81,000,000 81,000
= 40,500
< 12,150
Al 28,350
HY d=g Jgxy 10,554,670 10,565,610 A 10,940
= 59,500
< 86,000
Al 10,409,170
SASF HJIS2 Mel & 2 9,262,010 8,171,540 1,090,470
201 et 383,700 371,297 12,403
01 At 2teltl 153,440 161,440 A8,000
OSAEFRHIIE MHel==8 ERES R0
30& * 2,700,0000H 81,000
OSAM=SEM s EE22 MH
3,000& = 10,0000H 30,000
ORFIDEXI MO 2HHEE XS (20216 S
=5) 370& = 20,0000H 7,400
og234a ZEEI| M 800& = 20,0004 16,000
odesa ZAIE M= 1,000& = 10,0004 10,000
OsAESMYI NZ22s sEA SEHMESE W
& 9,040
O A(5021E) 8902 * 6004 * 1000 2 5,340
O&d(2021H) 3703 = 1004 = 1,000H 3,700
02 2324l 230,260 209,857 20,403
OMNEAHSEH KA E=Hl
140,000& * 1,18504 165,900
OMNEAH S ZHl S&dl
4,526@ * 1,18500 » 12& 64,360




SN BFBARE VAEHDY
HE: oD RS BECA BFE X4
R HAY d=8 J|gXH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 Bt A= 65,810 58,980 6,830
12 JIEtE2 A= 65,810 58,980 6,830
OZ2S T SAZFHIIE Hel=228 A0
s 5HAZ 1,000 « 109,682MICH * 5% ~ 12&€ 65,810
307 2Iz2to| A 8,760,000 7,662,263 1,097,737
05 QIZ2tR &2 8,760,000 7,662,263 1,097,737
OSASRHIIS 2T QAUB L2
120,0008 = 200€ * 365Y 8,760,000
402 SI2vXH=20| ™ 52,500 49,000 3,500
01 It EANSEXR (M) 52,500 49,000 3,500
OSASMY I XMHEID KA OIIER)
875,000& = 7504 * 80% 52,500
MEZE 84312 18238 AMS7AH 625,820 1,351,780 ANT725,960
201 et d| 64,482 51,442 13,040
01 AR 22l ] 58,055 45,015 13,040
oMz =2xtlis 22 H&
1,000 = 27,0000H4 27,000
OZ0| WEAIY (EX XB)
250% * 52,0004 13,000
oMz =2xtls 2282 AEIA
575€& = 5,0000H 2,875
oMz stz Hgesua 29 1,740
OZ A= 40,000 * 403 1,600
Osl =9 70,000& = 23| 140
oMeEsE =RHIE EE 13,440
Osl=9 70,000 * 48004 * 43| 13,440
02 =224 | 6,427 6,427 0
OMEBZ2HE(3R) 2222 1,150
QuEgeYsE=2 300,0008 ~ 1JH A 300
OSHAMES B FHIN 248
50,000& = 13 50
O&HBA =2 400,000 * 23] 800
OMEZ(3R)ME AlEEH KX HI|
3,5148 = 1,501.54m 5,277
206 M = Hl 47,900 366,900 A 319,000
01 X2 H| 47,900 366,900 A 319,000
OHEZS 2¥s 228 7Y
100,000 * 404 4,000
OFUNY M) TELNE T
1,000,000 * 2074 20,000
O0ISA WESE 224+HE 7Y
500,000 * 400 * 20 4,000
OHEZE HMX £=HE 7
300,000& = 40052 = 1000 £ 12,000
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SN
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B oD HRE BETA
K =]

e
e HAY d=8 Jjetx 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
PEETEEY N E 11,440
OoRelYy 1202 * 2,000kg 240
OEetAE 320& * 35,000kg 11,200
SASFHIIS NEAHHI EXAIY 123,200 117,200 6,000
401 AlEHIZL 2 0HY| 123,200 117,200 6,000
01 Al&H| 123,200 117,200 6,000
OSAZFHIIZ HEAHZHI XA
2,214,000 = 50CH 110,700
OSAZFHIIZ HEAHZI ML
250,000 = 50CH 12,500
SUEY 08 AXXJA 20,000 43,000 A 23,000
& 6,000
Al 14,000
206 M = Hl 20,000 43,000 A 23,000
== 6,000
Al 14,000
01 X2 H| 20,000 43,000 A 23,000
O=s2UBIHLEHE EXAY
500,0008 * 4004 2 20,000
& 6,000
Al 14,000
SSHotE EsXJ 65,000 45,000 20,000
= 19,500
Al 45,500
401 AlEHIZL 2 0HY| 65,000 45,000 20,000
= 19,500
Al 45,500
01 Al&H| 65,000 45,000 20,000
O=sZHH Y =286t X (130HA)
65,000,000 65,000
= 19,500
Al 45,500
HFEA S RLO0IEHMEH 24 7,200 0 7,200
201 et d| 7,200 0 7,200
01 AF 22| H| 6,000 0 6,000
OCI=YO0IEHME Ol=CHLY ZHXF X Z
3,000& * 2,0000H 6,000
02 =224 H| 1,200 0 1,200
0222 100,000& = 12& 1,200
MM HII=2e 221,110 18,768 202,342
HIoIS XKl A & 22 221,110 18,768 202,342
201 B9 18,160 18,768 A 608
01 AP 22| H| 13,860 13,860 0
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BB =R GAYHY
HE: oD RS BECA BFE X4
thel: MEE HoIS&2 (SH9: &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIIZ NCESNA A=
,000& » 53 * 128 480
OZHTY(HIISHY HSMHH)
100,000& * 28 200
O=SYMEHII S Mels==2
300,000& * 10& 3,000
O=ZMEHII S 2FH X2
400,000& * 1 = 23] 800
OHJIE 4224 A=4+E
300,000& = 63l 1,800
OHJIZ HEXel Mg I ME
5,000& » 1,000% 5,000
OHJIELN XNEBES 2 2,580
dd= 130,000& * 6% 780
ogst=s 150,000& * 6% 900
O&Hst 150,000& * 6% 900
02 =224l 4,300 4,908 A 608
OXEHEH (L832) 4,300,000& 4,300
401 Al HIZ 201 Y] 202,950 0 202,950
01 A& HI 202,950 0 202,950
OYXHII=Hc 202,950& = 1,000 202,950
HII2 MelAd &= 6,360,947 965,114 5,395,833
= 802,000
< 187,133
Al 5,371,814
HEFA H2HEE Z&AY 4,673,333 0 4,673,333
= 802,000
< 187,133
Al 3,684,200
401 AIEHI L 2 CHYI 3,505,400 0 3,505,400
01 A& HI 3,500,000 0 3,500,000
OM2MHE & MLEZ Mot+E EXI3A
1,500,000, 000& 1,500,000
oMz & =4 2,000,000
O 24| 2,000,000, 000& 2,000,000
03 A& =2 I 5,400 0 5,400
ON2HEE MUEZ sots=E EXNSA F&
A& R0 1,500,000,000& * 0.36% 5,400
403 MtXISHHE X201 E 1,167,933 0 1,167,933
= 802,000
< 187,133
Al 178,800
02 SO 2S0HHEHAHE X &AL H 1,167,933 0 1,167,933
OFF=Al M2MHEdE ZdAYE  1,167,933,000& 1,167,933
= 802,000




SN

3
M ootD WRE HACA

e
2 HIIE2 HM2AE &= (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 187,133
Al 178,800
A 2AEAEESH OIS FoU=2AAIS 1,687,614 965,114 722,500
201 gBt2A | 8,614 0 8,614
01 AP 22| H| 6,400 0 6,400
ONM2MEH & FO=2AAIY A0l X
x| 800,000& = 1CH ~ 8% 6,400
02 E2=2=24%H| 2,214 0 2,214
ONM2ME A L FO=2AAIY A IHR
24| 1,350& * 10.254 =* 160 2,214
401 AIEHIZL 201 Y| 1,679,000 965,114 713,886
01 Al&H| 1,672,974 959, 286 713,688
OFATE D=3 & AHZA 50,000,000 50,000
©OHlot25E =2 MK ZAFZAH(L=10m)
40,000,000 40,000
OMZE18E LA M2 2 AH(L=530m)
50,000,000 50,000
OAA26E =2 HH|Z2AHL=105m)
30,000,000 30,000
OXNS158 T2 L &2 AH(L=300m)
40,000,000 40,000
OXN=S16E =28 &2 AH(L=170m)
70,000,000 70,000
Od=E288 s EHZ2A 30,000,000 30,000
O %4213 0222 Hd| 2 AH(L=100m)
50,000,000 50,000
O£914E T2 L Z 2 AHL=220m)
20,000,000 20,000
OARI el s EZEZAF 100,000,000 100,000
O AtRI2el =22 & X2 AHL=270m)
130,000,000 130,000
Og=212| otsetd HH| 2 AH(L=450m)
140,000,000 140,000
O2 =232 OLAZ2AM LRI 2 AH(A=4,500m")
140,000,000 140,000
ostdel T2 XEZ & B AH(L=550m) 630,000,000& 630,000
OAE8E OISt HH|Z2AHL=720m)
30,000,000 30,000
©OH|ot21E 0t &Yl 2 AH(L=40m) 70,000,000 70,000
OEATEL 154 FUALAANY AALH B
1,620,000,000& * 3.27% 52,974
03 AlE 201 6,026 5,828 198
OFL7E2 14 FOUSJAIE AIZ 20 HI
1,673,694,000& = 0.36% 6,026
HMSHAY (P28 ANAAH) 75,442 64,942 10,500




2H: sABRS HAFHY
M ¥NSAAH (SFH22E NHM)
@2 Jl2&tl (e &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
Jl =23t 75,442 64,942 10,500
Jl23Hl 75,442 64,942 10,500
201 LEr2 Y| 27,238 27,238 0
01 At 22l Yl 26,128 26,128 0
oJlegesadistsHZd (JI=&8d])
500,000& = 204 10,000
o=3gdl (JI=&yl)
8,000 * 21 x 8 = 12& 16,128
02 352494l 1,110 1,110 0
O A& & Hl 7 XYl 1,110
OLNEHE= A 15,000,000 = 10H * 6% 900
O&E X2 AI] K XIH|
3,500,000& ~ 1CH ~ 6% 210
202 04| 33,504 33,504 0
01 2LHOHI 23,904 23,904 0
O=Uobl(IIEZ4l)
20,0003 * 169 = 8 * 12&  70% 21,504
OHJISXZIY oI & N=HA(HIHFE)
200,000& * 1 = 12& 2,400
02 EHN Y| 9,600 9,600 0
OZUNHI(HIISXNEE)
200,000& = 4% = 12& 9,600
203 € R =&Y| 4,200 4,200 0
04 ENESIHRF=EY| 4,200 4,200 0
O©J|= (25921 0ld}) 350,000& « 12& 4,200
405 X+H&HF SHI 10,500 0 10,500
01 A&t = S F SHI 10,500 0 10,500
O &K= A 5,500,000& * 1CH 5,500
O M MIED| 1,000,000& = 1CH 1,000
O0lsSMEE 200,000& = 2004 4,000
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20199 = =0fah L3 eZ2Ac=R SI3FEHY ~ SF2A=R ot=HMel

A 32A22R T

M HolES Ascts T AE2E
SHol: F0I0l otAlsts HOIZ MalAla (ol @)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
S22 U 22D 21,488,489 23,081,466 A 1,692,977
HII=€ N2sicts 2E&d NE2E 16,582,568 18,079,958 A 1,497,390
F0I0] etaot=E HIIES XMelAlE 15,931,640 17,483,091 A~ 1,551,451
BFAFALAANE FHIY 3y SS2M 10,000 150,000 A 140,000
207 Ao 10,000 150,000 A 140,000
01 A2 E A 10,000 150,000 140,000
OFFAHAZFLAANE FHANG LIS IA
g9 (24x) 10,000,000& * 1%l 10,000
BFAZAL2AAE 22 3,514,772 7,311,320 A3,796,548
201 2er= Yl 200,000 0 200,000
02 S2=29Hl 200,000 0 200,000
OHJIISHERES 200,000,000& * 13 200,000
206 =4l 4,000 4,000 0
01 M= Hl 4,000 4,000 0
OxLANEYT NEHLE S5t2s 7Y
400& = 10,000kg 4,000
207 Ao 183,000 255,800 AT2,800
01 22 EAH 183,000 255,800 AT2,800
OFFHZALAANE SEMS(25D]) A=E
SN Y 183,000,000& = 12 183,000
307 212t0l & 1,772,500 5,460,520 23,688,020
05 It E = 1,772,500 5,460,520 23,688,020
OSASE HIIS A2Hel s AIEE
30,000& = 25% * 50& * 602 22,500
O2AAd 230 DHEHA WEHIIE A
Xeldl 200,000& * 1,750& 350,000
OA2AIE B0 OHE HIl= AKXl
200,000& =+ 7,000& 1,400,000
401 Al HI L 2 THHI 1,355,272 1,591,000 235,728
01 AlZHI 1,355,272 1,591,000 N235,728
OFS0AEXME 2+X2AIEd HE SA 334,272
O Z AtHI 320,000,000& 320,000
O&AIE A 320,000,000& * 4.46% 14,272
OA2AIE 1537 HEELe =2 uH 169,000
OZ3 AtHI 158,000,000 158,000
O& A E I 11,000,000& 11,000
OXZAE 18 ME==D| E= 238,000
OB AtHI 223,000,000& 223,000
O&AIEAHI 15,000, 000& 15,000
OFz0aZdsd K2l 30,000
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dM: HII=2ES Ustote dEF AIE2S
chel: 010 oHABtE HII2 HelAla (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Ozzgedzd 23, 8NNY
20,000,000& * 1JH 2 20,000
OFZ208¢Z3d NE |XH
10,000,000& * 1JH £ 10,000
OLZAIH25)] AXH HAAE W2 Wi 308,000
O & AtHI 290,000,000 290,000
O& Al & Al 18,000, 000& 18,000
Q22 AN&25I S| WX 276,000
O3 AtHI 260,000, 000& 260,000
O4& Al £ Al 16,000, 000& 16,000
ES HEE 222 1,561,639 485,559 1,076,080
201 et 224,056 186,856 37,200
01 At 22| 138,336 102,672 35,664
OMUR BALATAN 242 79,360
OBAWYE e+
350,000& * 1A = 123 4,200
OZdMga (&) &=
350,000& * 1JH4A = 123 4,200
OZSMEHE KXot ZALE & A=
180,000& * 444 * 42 0| 2,880
OZYMEE =¥ Kot ZAH(HESES)
150,000& *= 1JHA * 42 0| 600
OZdUEd =HOS Xote A (SE=)
300,000& * 1604 * 42| 19,200
ONESZ20EE 54+ % Hal+
370,000& * 4JH 4 * 42 0| 5,920
OMSZZMHEE Kot 2AE L A=
150,000& * 14JH 4 * 42 0| 8,400
ONEZZNMHEE FH =2 & ot&=
330,000& * 4JHA * 42 0| 5,280
ONSESZMHEE FH Kot (MEBES)
150,000& * 244 * 42 0| 1,200
OZdMed & 0522 =8 Kot
180,000& * 404 = 23] 1,440
OZTMEH H=s XNdt=
300,000& * 14 * 23] 600
OMZZZMNEE FH 2 4% E2H
Ak 1,120,000& * 12004 * 13l 13,440
OMZSZSMHEE M ItA ZA
300,000& * 64 * 13l 1,800
OANEZSZMEE XIEttE T A
1,700,000& * 34 * 23] 10,200
OUEE HII2 S&TA 750,000& * 43| 3,000
OUE X == =8N A
2,250,000& * 43| 9,000
OZSHEHE HIIZHA 16,000,000& * 12l 16,000




SN BFBeER HA2D
dM: HII=2ES Ustote dEF AIE2S
Chel: 02101 otAGl= HOI2 XMelAld (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFIIEEl HIZBA =2 950
OS &0 & (150kW) 450,000 * 1JH A 450
O & AR A (250kW)  500,000& * 1JH A 500
OME HZ22T A4
6.6002 * 18 » 122 1,426
OS4+ALBTUI(S2AE)
8,000& = 10Y¥ = 8 = 10& 6,400
OdJ|etdzte] Hd === 350,000& » 128 4,200
ogxitA3a 2 60,0002 » 40 A 2,400
OlNg & 22 E Y A=z
880,000&  12& 10,560
O At 480
O2JEEX 25,000& ~ 12& 300
OFMEEX 90,000& * 2@ 180
ORQ MIZHAIAH 24 4,560
OZZMEH 200,000& = 12& 2,400
OAE & 180,000& * 12& 2,160
02 3323l 85,720 84,184 1,536
O E MIRS 25,098
oJleaea 12,768
-2 ErE (2) 11D 2A
8,230 * 73KW » 10 » 12 7,210
—AHAE(2) 1D 2A
74703 * 17KW » 1A « 12 1,524
~AFAE(2) 1D LA
7,4703 * 45KW » 10 « 12 4,034
OFSE=R-3o4=, 12,330
- BEE (2) 11D 2A
135& * 4,000KW » 1JHA » 128 6,480
M E(2) I D2A
90& * 3,500KW * 1A = 12 3,780
—MAE(2) DA
115& + 1,500KWH = 10 = 128 2,070
OZZMHEE HIIR= 947
OoJlegs 431
—TEEME 910& * 15KW » 1A + 123 164
~AEE(Z)M
5,550 * 4KW » 1A « 123 267
odgEges 516
-~ E M 933 x 200KW x 1A + 123 224
()M
813 * 300KW » 1A + 123 292
OXtS XAl 23 HIAl 532
OFE=J=i3— 26,000& = 200 = 13l 52
OUdst=(8.58) 120,000& = 100 = 13l 120
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M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEZ(15&) 180,000& = 200 = 13l 360
OHAMERL S (XHE) 1,080
OE=J-i3— 80,000& = 20H * 23| 320
Os8st=2(5€) 190,000& = 104 = 23l 380
Ougs2(8.58) 190,000& = 104 = 23l 380
OXELEZ (MY, ) 2,130
(OFE =18 340,000& = 2CH = 13/ 680
Os8st2(58) 600,000& = 1CH = 13 600
OUgst=(8.58) 850,000& = 104 = 13l 850
O=ZH Bz 2,000
O=2401 2 48 400,000& * 5CH = 13 2,000
OXE & SZHH M == 483
Oxt& 60,000& = 408 = 13l 240
Os&l 48,500& = 504 * 13l 243
O &Hl= Xl 1,350& * 2,0002I & = 12& 32,400
O Xt& & Byl 18,400
Ost=xt 4,300,000& = 404 17,200
OHHEI(AEY HIE)
100,000&  1CH = 128 1,200
QulHIl =2l 50,000& * 5CH 250
ORHSAIHI(HE S Z CCTV)
200,000& = 12& 2,400
203 R =&t 2,000 2,000 0
03 AIMF=XH R =AY 2,000 2,000 0
OHJIZE HEZE gd2=2 2,000,000& 2,000
206 = Hl 104,228 122,143 A 17,915
01 M2 4l 104,228 122,143 A 17,915
ONMEZE & FHOES YAAS 69,784
O AZEHM(MHEZL)
3,260& * 20L *» 30 * 9& 17,604
OMA SALH (DHEZE L Had XY)
,500& * 20L * 20& * 68 8,400
OZAMSH(MHEE & A XA)
22,0004 = 1L » 208 * 68 2,640
OgAdEH(2MIS & XA)
22,0004 = 1L » 208 * 68 2,640
OZAMEE OIS IHESLAAZ (0
E) 2,500 = 2,3000t+ = 6K 34,500
OLMIE Z22Y YAAZ(HNAHASB)
2,500& * 80 A * 2004 4,000
O=EEE =&=2M 13,000& * 300m 3,900
ORTM=E (=2 AME)
1,700& = 5004 = 43| 340
OF¥E=+ 0822 E4E 111 3,704
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M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Of2EA & 100A 357,060& = 504 1,786
Ot 2& A& &Z 150A 383,570& = 504 1,918
O & 29228 L4248 M
5,000,000& = 13l 5,000
O Z HMIIANE |X2el 5,500
OS &®RFEHI| (4P * 50A) 130,000& * 107K 1,300
Ol & XFEHII (3P * 50A) 46,000& = 1004 460
Ol g S (250W) 74,0003 = 1004 740
OF& (3P  10SQ) 6,000& = 500M 3,000
o3& & 8,000
OM=HM & a=H 18,0002 * 3004 5,400
OZ2 M8 && S 20,000& * 30% 600
OZ2E2+¢Y 2,000& = 2502 = 43| 2,000
OZSLSE(MEE A2EZE MEHAE)
4003 = 20,000kg 8,000
207 Ao 2| 400,000 50,000 350,000
01 2284 400,000 50,000 350,000
OFFTHZAMNB AL FHHIA SFL4ISIA
29 300,000,000& * 12l 300,000
OANZSESZINHEANE FHSIISSS A 98,000
O2AMEE FHAIISSSHIAM
56,000,000& * 13l 56,000
OZZMHEYE FHAI IS IAM
42,000,000& = 13l 42,000
OBRAZZX 2=3H Rl XA
2,000,000 =+ 13l 2,000
401 A& HIZ 2018 809,355 120,000 689, 355
01 A& HI 805,890 120,000 685,890
OZNHE & 3 M &AXZA 571,890
OME &XI3AH| 550,000,000& * 13l 550,000
O& A& 550,000,000& * 3.98% 21,890
OZAMEE HMEANE =KXl
5,000,000& 5,000
O=Z&dl ==&l 20,000
Oo=zd4 5,000,000& =« 1CH 5,000
O=sJ1gx= 2,500,000& = 20H 5,000
O= 47| 5,000,000& = 1CH 5,000
O=&H 5,000,000& = 1CH 5,000
OF&E+ MRZE &4 5,000,000& « 1CH 5,000
OZHEd =22 &l 64,000
OZCMEE S22 FHl SAHH|
60,000,000& * 1JH A 60,000
O& A& AHI 4,000,000& 4,000
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Mz HII=S=S NIsots EEtd AIE2Y
CHel: 00| QAIGHE HII2 XelAld (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZXMNWHHE -=2¢Ctel A
50,000,000 * 1= 50,000
OZHEMEHE AMESKKELH| 90,000,000 90,000
03 AlIEE2HH| 3,465 0 3,465
OZSEMEH HEY EXZ2AF Al 20|
550,000,000 * 0.63% 3,465
405 KHoHFE S HI 22,000 0 22,000
01 AL 2B F S| 22,000 0 22,000
OASIE2(1E) 22,000,000& = 1CH 22,000
325 dEAE 22 857,325 652,585 204,740
201 et 9| 12,400 0 12,400
02 2%l 12,400 0 12,400
OMEENMEANE Y9 2222 & 12,400
Qe 23 200,000& * 123 2,400
OdI 22 5,000,000& = 23| 10,000
207 A F I | 19,500 0 19,500
01 | 19,500 0 19,500
OMEBESANMLEANE a8 2HYU A1g2A
19,500,000& = 13 19,500
307 2Iz2to| & 624,000 387,585 236,415
05 QIZ2tRE 2 624,000 387,585 236,415
omMeEssE =83 Ml 100,000& = 1,820= 182,000
OME=ZE MEHIIS(MMS)M
170,000 = 2,600 442,000
401 AlEHIZL 2 0HY| 199,425 265,000 ANB5,575
01 Al& H| 198,000 265,000 A 67,000
oOMEBENMEH LEDSIIF LA 15,000,000& 15,000
oMeassdeEd 22X EHA &1
25,000,000 25,000
oMesHEd MHEMNED EE L
20,000,000 20,000
oMeEsSEd A8tHIT H4 20,000,000 20,000
oM AHMER MHAHH HH| 15,000,000 15,000
22 W StAHZXI 2H 3,000,000& 3,000
OMEZEHYEE S E2H| 100,000,000 100,000
03 A& E2HH] 1,425 0 1,425
oMeEE HE AL 22 Ald=20]
1,425,000 1,425
405 XHoHFE S HI 2,000 0 2,000
01 AL E B F S| 2,000 0 2,000
ol P2 1,000,000 * 2MIE 2,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
SAESFRHIIZS NASGANE 29 9,887,324 8,596,327 1,290,997
207 AT IH £ h| 103,552 17,600 85,952
01 A2s<H| 103,552 17,600 85,952
OSAZSRHIIZE NISAIE XHeldl dE 24
10,000,000& 10,000
OSAZSFRHIIZE KISAIA DI2tRAE 2HH|
ME 2A 19,000,000& 19,000
ORIIHHIIZE HUXSIAIE QI2HRE 29|
ME 2A 19,000,000& 19,000
OKRIIHHIES HUKXSIAIE 2FI|=&
55,552,000& 55,552
307 212t0| & 9,503,770 8,578,727 925,043
05 A2t E 2 9,503,770 8,578,727 925,043
OSAZFHIIZ Xl 6,860,754
O38A=2 Myl 89,0483 » 200&€ =* 365Y 6,500,504
O2LU ™yl 154,000& * 5& x 3652 281,050
O& &+ 2354l 330,000 = 404 * 60 79,200
ORIILHIIE HUXSAIE 2Z bl
220,251,333 = 12& 2,643,016
401 AIEHIL 20| 280,002 0 280,002
01 Al& bl 278,000 0 278,000
OSAEZHIIE XNIASAIE E&I=F LA 278,000
O3 Att] 264,000,000 264,000
O& A& AHI 14,000,000& 14,000
03 A& 20HH] 2,002 0 2,002
OSASHIIZ NRSAE 2Y ALLHY
278,000,000& * 0.72% 2,002
HEANUH X ElE 22 100,580 0 100,580
201 LEt2 Y| 19,500 0 19,500
02 35294l 19,500 0 19,500
OrEBHNUKNES HIL=
1,625,000 = 1A « 128 19,500
206 M = Hl 31,080 0 31,080
01 24l 31,080 0 31,080
OXEBHNUKEISR S=SAIE 2F 22 31,080
OAx24 I+ 15,580,000& 15,580
Os22=EI(0ldl) 3,000,000& * 1CH 3,000
OLETZ(0Hl) 500,000& * 1CH 500
OAHEZ(0ldl) 3,000,000& * 1CH 3,000
Ogi& ==& X2| 5,000,000& * 1CH 5,000
Oguetd| Eataatoet 4,000,000& = 14 4,000
401 Al HI L 2 THHI 50,000 0 50,000
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AN 3222 A 2el
M HIISES NEctsE &Ed ANE2Y
chel: FOXABAM 2 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DdPEs 292
298,882,000& * 3.12% 9,326
“}IRLYBEE BEHE
9,326,000& * 7.38% 689
-2z RE2 298,882,000& * 4.5% 13,450
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